ROOFTOP UNIT

AERO 2503, 12V, 13 kW

DESIGNED FOR MINI/ MIDI BUSES (WITH SIDE DUCTS)
W. ELECTRONIC CONTROLLER

P.N.4700-503

® ALEX ORIGINAL RESERVE THE RIGHTS TO MAKE CHANGES IN ITS PRODUCTS WITHOUT
ADVANCE NOTICE.

05.23



ROOFTOP UNIT

AERO 2503-12V
AERO 2504-24V

(DESIGNED FOR MINI/ MIDI BUSES WITH SIDE DUCTS)
W. ELECTRONIC CONTROLLER

\=\" -/ ¢

09\\GIN,4<

4700-503(4700-504
Refrigeration capacity at ambient temperature 30°C 11.5kw | 12.5kw
Refrigerant R-134a
Refrigerant charge for 134a 1050gr.
Refrigerant charge for 134a connected to front AC 2400gr.
Oil charge (in addition to the existing in the compressor) 70cc
Rooftop Unit weight 40kg

TA 5040

05.24



AERO 2503 » Rooftop Unit » 12V « 4700-503

KA EFX

AERO 2504 « Rooftop Unit « 24V « 4700-504

3801-0963
UNIT ACRYLIC
ABS COVER

5110-043T (12V)
EVAPORATOR
BLOWER (2 PCS.)

5110-101(24V)
EVAPORATOR
BLOWER (2 PCS.)

\ S,
4021-018T(12V)

ELECTRIC FAN
4274-941A

(2 PCS.)

4021-156 (24V)
CONTROLS WIRE
HARNESS TA-2222

ELECTRIC FAN

3030-711
ALUMINUM
TUBE 9.5mm

3030-712
ALUMINUM
TUBE 9.5mm

2290-274
REAR BRACKET

COIL (2 PCS.) 3030-710A

ALUMINUM
TUBE 12.5mm

4285-306A
WIRE HARNESS

N 2290-277
O FRONT LEFT

BRACKET COIL
2013-995 2117-004
COIL N° 995 BLOCK VALVE
(FLANGE)
CLAMPING PLATE
2290-275
FRONT RIGHT 4050-017
BRACKET COIL BLOCK VALVE
(FLANGE)
1014-010 = 2117-0035
TERMISTOR BLOCK VALVE
(FLANGE)
CLAMPING PLATE
2010-959
CONDENSER 2290-270
LEFT
CONDENSER
BRACKET
2290-271 2290-267
RIGHT CONDENSER FRONT
BRACKET CONDENSER
BRACKET
1014-009
TERMISTOR
ASSEMBLY
2290-352 2290-273
INNER WALL PLASTIC COVER
BRACKET
(3PCS.)
2284-375
RECIVER DRIER
BRACKET
%4—5210-014
2290-264 RECIVER
UNIT BASE DRIER
(PLASTIC)
P-<a—1050-0015
?I BINARY SWITCH
TA 5053 -2- 05.21



AERO 2500 » Rooftop Unit « 12V » 24V

KA\ EX

CHANGE OVER RELAY
20/30A (4 PCS.)

RELAY 40A (3 PCS.)

O?\\GIN/‘(

PCB TA 2500

TA5053A

-2A-

02.22



AERO 2500 « Rooftop Unit

170

1320

| =

0ELHt

305
——AIR OUTLET
O alale) d S [
M O
O
DRAIN
=
O
405
o <] AIRINLET |3
o ? 3
o) —
° @\/ DRAIN
(@)
U (@]
@) () by S \
AIR OUTLET
305
FIG. 2
TA5042 -3- 07.17




AERO 2500 « Rooftop Unit A\=\W — ¢

\ PG N
FIXING POINTS & ROOF OPENING @

160 350 175 350 R v

540

o .
§ "g_, é L. 410 — Y — = '»FRONT
|
'! i
i i
i 5 i
! © I
1 ]
i i
i i
i i
i i
| A N A4 N
3 = I — 2~
175
1320
VIEW A ROOF OPENING:

BEFORE OPENING THE ROOF, BE CAREFUL NOT TO DAMAGE THE INTERNAL CELLING,
—_— D WIRES OR COMPONENTS.

MARK AND DRILL 2 HOLES 10mm ON CROSS MEMBER LIP (VIEW A)
540mm ON BOTH SIDES OF ROOF CENTER LINE.

USE THE 2 HOLES TO MARK (ACCORDING TO THE MEASUREMENTS FIG. 4)
THE SIX ADDITIONAL HOLE AND THE OPENING FOR THE UNIT.

IF USING A TEMPLATE, FIX IT USING 2 BOLTS M6x25, MARK THE SIX ADDITIONAL HOLE
AND THE OPENING FOR THE UNIT.

FIG. 3 |

TA 5043 07.17



Q\GIN4(

)

K\ EX

AERO 2500 « Rooftop Unit

=
=2
)
& w
N T
\\&uvw 5 N
),‘.M ZE
22
ximu
<4
M_I
<k
=
- o

|POSITION THE ROOFTOP UNIT ACCORDING THE 2 HOLES.

FIG. 4

10.17

FIG.5

TA 5044



AERO 2500 « Rooftop Unit KW\ EX

\ CLEAN THE ROOF SURFACE ALONG
THE MARKED AREA TO ALLOW GOOD
\ CONTACT FOR THE POLYURETHANE
==

]

PAINT TWICE ALL HOLES AND CUTTIN
LINES WITH TOP QUALITY ANTIRUST
COLOR ENRICHED WITH ZINC.

FIG. 6

% POLYURETHANE

* SIKA 221 1S RECOMMENDED

APPLY POLYURETHANE SEALING
ON THE MARKED LINE

THE EVAPORATOR UNIT
MUST BE TURNED OVER
AND PAINTED BY A THIN
LAYER OF PRIMER SIKA 209D

TA 5058 -5A- 08.19




AERO 2500 « Rooftop Unit KW\ EX

IREINSTALL UNIT ACRYLIC ABS COVER.l

2419-016 -

STAINLESS STEEL
ROUND HEAD
BOLT M6x16

(10 PCS.)

2415-058
ALUMINUM /
RUBBER

WASHER 6mm =

(10 PCS.) \
I

% POLYURETHANE
* SIKA 221 1S RECOMMENDED

SMOOTH THE POLYURETHANE
ALL AROUND THE UNIT,

IF NEEDED ADD SOME

MORE POLYURETHANE.

FIG. 8

TA 5045 -6- 08.19




K\ EX

AERO 2500 « Rooftop Unit

WY,
\ :
<

C

BASE COUNTER
STARP (4 PCS.)
8 BOLTS M6x25
+ LOCKWASHERS

2028-001

APPLY POLYURETHANE * FROM THE INSIDE
OF THE VEHICLE FOLLOWING THE OPENING.

% SIKA 221 1S RECOMMENDED

FIX THE UNIT USING 8 BOLTS M6x25

AND 4 BASE COUNTER STRAP.

FIG. 9

08.17

TA 5046



K\ EX

AERO 2500 « Rooftop Unit

\!

/
AN

A

% 0

/o SN\

&

DRAIN HOSE PLASTIC

3110-001
TEE 1/2"
(2 PCS.)

\

R
\/

s

NI ]

Sl N\

NN

\ AV
WA [

Y

\V ,umx

/

WA N

4

o\
\
)

( e

=

3120-206
DRAIN HOSE
1/2" 800cm

07.17

FIG. 10

TA 5047



e
\%

AERO 2500  Rooftop Unit

DRAIN HOSE

DRAIN HOSE

HOT WATER HOSE
ONLY FOR UNIT
WITH HEATING

HOSE 13/32"

HOSE 1/2"

FIG. 11

TA 5048

02.18



?\. EX
ol
\Y4

AERO 2500 « Rooftop Unit

/7CEILING

FILTER BASE

3801-2641
PLASTIC

6 SCREWS 5x12 —

2316-164

FILTER
3801-2642
FILTER HOUSING
PLASTIC

6 BOLTS M6x15

AIR FILTER ASSY. (P.N. 3801-264)

FIG. 12

07.17

-10-

TA 5049



KQULEX
AERO 2503 « Rooftop Unit e 12V ¢ 4700-503 <y,
AERO 2504 » Rooftop Unit « 24V « 4700-504 \

107

> @7 (2 HOLES)
CUT OPENING
e AS SHOWN
145 .

OPTIONAL
3801-929 ————»=f
PLASTIC FOR a

ELECTRONIC
CONTROLLER

« 42 »
®

1050-378
ELECTRONIC CONTROL BOX
WITH DISPLAY

1010-003
RELAY 12

FIG. 13

.

1011-061
MIDI FUSE 60A

FIG. 14 [ SHOULD BE PLACED NEAR THE BATTERY |

TA 5055 -11- 03.24



AERO 2500 « Rooftop Unit

\=\" /. ¢

ALUMINUM ‘
TUBE 9.5mm

\2

~<——CONDENSER

RECEIVER — ™
DRIER

ALUMINUM ———— &=
TUBE 9.5mm

L

COIL————»

¢
=

|-t—— ALUMINUM
TUBE 12.5mm

EXPANSION
VALVE

HOSE 1/2"

HOSE 13/32"

FIG. 15

SERVICE COMPRESSOR
VALVE r

+*SERVICE

VALVE

\ <SS,

TA 5051

12

07.17



AERO 2503 « Rooftop Unit « 12V « 4700-503

K\ EX

AERO 2504 » Rooftop Unit 24V « 4700-504

\ 09\\GIN4<

EXTRNAL EVAPORATOR V
TEMP SENSOR BLOWERS
= 1 1 — INTERNAL
IRl IRl TEMP SENSOR
CONDENSER
ELECTRIC FANS -
z 2l z 2 =z
w w (e) X|\|
T 4% 35 d3 8¢ %
% 0 @ & 'E.':J E % 2 o E % § G
O - - - o)
© 457 57 45~ 5~ 459~ 5 )
LvH| | L5 W W INT
‘"5 COND. EVAP. EVAP.  SENSOR
J2
b (5] @b b b (5] b b
@ @ @ : @ ; @
w LLI|
=z P4 (2] [77]
i : :
o o
oM o
COND. FAN ] ISPEED IISPEED TISPEED
RELAY RELAY RELAY RELAY
BINARY
SWITCH ELECTRIC
— | + BAT - BAT Jays THERMOSTAT FLAP OPTION
OEEE RO & FLAP
O_E@UUE Q Q El OOk |5 | pep ) —»  MOTOR
= BROWN %
= GREEN () —»
)
&
w I -
b 2 = COMPRESSOR
2 5 = g Qlw m it
Ys|Z £ 23| ol
adm|Z|o| >| @ >|o|d MDNFUSE
| 114] 60A
S Z|T| ZEH |_|_| |_|_|
pd
Q 2 8 B B RED RED r'—| BATTERY
al || | &a]d L1 «
o
9 8 |2 | g2 ® © S
Z -
w18, |8 © | COMPRESSOR
2 el 3 RELAY
Z| || o ==
87
BLUE 586 85“ BROWN
~\ 30]
1050-376 ALEX Q =
1050-377 ORIGINAL @ @ 8
¥ oc ® O
ggﬂNECTOR DIGITAL CONTROL ]
1
CONNECTTO l RED 7 ] ST 58I 7|1 <l
ORGINALWRE DEﬁ- @DQE
(+) AFTER IGNITION (4[4 [PIAPIAL]
FIG. 16
TA5054 07.19



DIGITAL CLIMATE CONTROLLER A=\ — ¢

P.N. 1050-378 \
ADVANTAGES V

Electronic climate control. Automatic fan speed adaptation according to temperature. Easy
readable digital Display. Automatic changeover between heating and cooling. Heating system
control. Outside temperature indication. 3 speed internal fan.

o} OJOJO, //@

T AC =

7

:
-l
|

)
)
ot

0 ®

1. Heating 2. Cooling 3. Circulation 4. Auto fan 5. Error 6.Fan level 7. Set point 8. Exterior temp

>
© ©

© e
® ®

.n
=
r
0
=
o
4

KEY - Automatic climate control. Switches on- off the automatic temperature control.
KEY - Blower control. Increases/decreases blower speed or set to auto.
KEY - Temperature control. Decreases interior temperature set point by one degree per click.

IO O ®®

KEY - Temperature control. Increases interior temperature set point by one degree per stroke.
& KEY - Air Recirculation. Pressing key to turn on recirculation.

OPERATING INSTRUCTIONS

When engine is running press key @ to activate the climate control.
Temperature control \When A/C is on, select temperature by using key @ to decrease or key @
to increase the temperature. The temperature can be adjusted between 12°C-28°C / 54°F-82°F.

Ventilation When A/C is on in automatic mode, the blower's speed is controlled by interior temperature.
Blower speed can be changed by pressing key @

Heating (option)

If temperature drops below set temperature heating will start automatically LED will lid.

* In case the heating unit is not a part of the A/C system, on heating mode the A/C blowers should be cut
off, by connecting points B1 and B4 on connector B.

1/2

09.23



DIGITAL CLIMATE CONTROLLER A=\ — ¢

P.N. 1050-378 \

Temperature indication v
(¥) and (A) .

To check the interior temperature press simultany on ) and Y,

Celsius to Fahrenheit conversion

Conversion function between Fahrenheit and Celsius degrees long press and hold the

"Air Recirculation" to switch the current temperature display mode. If the current temperature is Celsius,
it will switch to Fahrenheit; If it is currently in Fahrenheit, it will switch to Celsius.

1. A connector

A1 Blower first speed relay output (+). A6 External temp. sensor.

A2 Blower second speed relay output (+). A7 Common for temp sensor.

A3 Blower third speed relay output (+). A8 Internal temp. sensor.

A4 Blower cut off on heating mode (+) imput. A9 (+) Output for flap activation relay.

A5 Trinary input (-). A10 (+) Output for roof fan activation relay.

—

A109876
5141321

2. B connector

B1 Compressor relay output (+).

B2 Hot water relay output (+). 4'_|3
B3 Input (-).

put (-) B+,
B4 Input (+).

3. Error Cods

E1 Internal temp. sensor fault.
E2 External temp. sensor fault.
CO No Gas in the system.

Controller cutting dimension

124.5 mm

40 mm

2/2

09.23





